The more your money works for you, the less you have to work for money.

HW - Chapter 3 - Ratios - Q9

Working notes:

(i) Computation of Current Assets and Current Liabilities
Current assets + Current liabilities = 2.5

Current assets = 2.5 Current liabilities

Now, Working capital = Current assets - Current liabilities

Rs. 4,80,000 = 2.5 Current liability - Current liability
Or, 1.5 Current liability = Rs. 4,80,000

Current Liabilities = Rs. 3,20,000

So, Current Assets =Rs. 3,20,000 x 2.5 = Rs. 8,00,000

(i) Computation of Inventories

Liquid ratio = Liquid assets + Current liabilities

1.5 = Current assets - Inventories + Rs. 3,20,000

1.5 xRs. 3, 20,000 = Rs. 8,00,000 - Inventories
Inventories = Rs. 8,00,000 - Rs. 4, 80,000 = Rs. 3,20,000

(iii) Computation of Proprietary fund; Fixed assets; Capital and Sundry creditors
Fixed Asset to Proprietary ratio= Fixed assets + Proprietary fund =0.75

Fixed Assets = 0.75 Proprietary fund

Proprietary fund = Fixed Assets + Net Working Capital - Long Term Debt

= 0.75 Proprietary fund + Rs. 4,80,000 - 0

Proprietary fund Rs. 19,20,000

Fixed Assets 0.75 proprietary fund = 0.75 x Rs. 19,20,000 = Rs. 14,40,000
Capital = Proprietary fund - Reserves & Surplus = Rs. 19,20,000 - Rs. 3,20,000 = Rs. 16,00,000
Sundry Creditors = Current liabilities - Bank overdraft

= Rs. 3,20,000 - Rs. 80,000 = Rs. 2,40,000

Balance Sheet as at 315t March, 2021

Liabilities Rs. |Assets Rs.
Capital 16,00,000 |Fixed Assets 14,40,000
Reserves & Surplus 3,20,000 [Inventories 3,20,000
Bank overdraft 80,000 |Other Current Assets 4,80,000
Sundry creditors 2,40,000 |(Balancing figure)

22,40,000 22,40,000
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